
​==== DECODING IR PROTOCOL NEC1 ====

==== PROTOCOL INFOS by toString() ====
IRP = {38.0k,564}<1,-1|1,-3>(16,-8,D:8,S:8,F:8,~F:8,1,^108m,(16,-4,1,^108m)*)
Frequence = 38.0
timeBase = 564
Order = lsb
Coded bits = 1
Encoding = VARIABLE SPACE
Coding map =Array ( [0] => Array ( [0] => 1 [1] => -1 ) [1] => Array ( [0] => 1 [1] => -3 ) ) 
MaxTime in code = 1692u [3] 
---------------- 
Runtime Exp = Array ( ) 
IRStream = (16,-8,D:8,S:8,F:8,~F:8,1,^108m,(16,-4,1,^108m)*)
---------------- 

==== OUTPUT from decodeRaw(), output RAW:
DATA = {D=80,S=175,F=67}

==== OUTPUT from dataVerify(false):

{D=80,S=175,F=67}|{}|true

==== OUTPUT from dataVerify(true) - verbose:

Processed 68 data. 

------------- RAW NORMALIZED 
 Marks  - required:  564  average:  485  delta: 79
 Spaces - required: -564  average: -637  delta: 73  adjust: 76

------------- DECODED VARIABLES 
D = [0x0050] 80
S = [0x00AF] 175
F = [0x0043] 67
~F:8 = [0x00BC] 188

------------- VERIFIED VARIABLES 
~F:8 = [0x00BC] 188  OK

==== OUTPUT from decodeRaw(), output BIN: 

BIN   = 00001010111101011100001000111101

==== The BIN output from decodeRaw(), modified by RAWprocess() : 
BIN-0 = 00001010 11110101 11000010 00111101
BIN-1 = 0AF5C23D
BIN-2 = 0A F5 C2 3D

==== Verify RAW normalization with IRP:

CAPTURED   = [47184] 8914|-4570|486|-638|486|-638|486|-638|482|-642|486|-1758|486|-638|486|-1762|486|-638|482|-1762|486|-1762|486|-1762|486|-1762|514|-610|482|-1762|486|-638|486|-1762|482|-1766|486|-1758|486|-638|486|-638|486|-638|486|-638|486|-1762|482|-642|482|-638|486|-638|486|-1762|482|-1762|462|-1786|486|-1762|486|-638|486|-1762|482|-1000
NORMALIZED = [47184] 8990|-4494|562|-562|562|-562|562|-562|558|-566|562|-1682|562|-562|562|-1686|562|-562|558|-1686|562|-1686|562|-1686|562|-1686|590|-534|558|-1686|562|-562|562|-1686|558|-1690|562|-1682|562|-562|562|-562|562|-562|562|-562|562|-1686|558|-566|558|-562|562|-562|562|-1686|558|-1686|538|-1710|562|-1686|562|-562|562|-1686|558|-924
EXPECTED   = [47376] 9024|-4512|564|-564|564|-564|564|-564|564|-564|564|-1692|564|-564|564|-1692|564|-564|564|-1692|564|-1692|564|-1692|564|-1692|564|-564|564|-1692|564|-564|564|-1692|564|-1692|564|-1692|564|-564|564|-564|564|-564|564|-564|564|-1692|564|-564|564|-564|564|-564|564|-1692|564|-1692|564|-1692|564|-1692|564|-564|564|-1692|564|-39756
RAW-1        = {38,564,68}16|-8|1|-1|1|-1|1|-1|1|-1|1|-3|1|-1|1|-3|1|-1|1|-3|1|-3|1|-3|1|-3|1|-1|1|-3|1|-1|1|-3|1|-3|1|-3|1|-1|1|-1|1|-1|1|-1|1|-3|1|-1|1|-1|1|-1|1|-3|1|-3|1|-3|1|-3|1|-1|1|-3|1|-10

==== Verify RAW normalization without IRP:

NORMALIZED no IRP  = 8990|-4494|562|-562|562|-562|562|-562|558|-566|562|-1682|562|-562|562|-1686|562|-562|558|-1686|562|-1686|562|-1686|562|-1686|590|-534|558|-1686|562|-562|562|-1686|558|-1690|562|-1682|562|-562|562|-562|562|-562|562|-562|562|-1686|558|-566|558|-562|562|-562|562|-1686|558|-1686|538|-1710|562|-1686|562|-562|562|-1686|558|-924
RAW-1 no IRP = {37,562,68}16|-8|1|-1|1|-1|1|-1|1|-1|1|-3|1|-1|1|-3|1|-1|1|-3|1|-3|1|-3|1|-3|1|-1|1|-3|1|-1|1|-3|1|-3|1|-3|1|-1|1|-1|1|-1|1|-1|1|-3|1|-1|1|-1|1|-1|1|-3|1|-3|1|-3|1|-3|1|-1|1|-3|1|-10
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